.
L
t

> 607

“;‘0 JLU'— J?'G &UH‘J ﬁ)“sﬂu)u Glbbjsé Sv933 ijT

R IR R [ IR R e IR e R R A R RA RA A R R

’ ‘ 0{..33.&‘55 t'}‘.ml =L P .:‘5.& C"}Ld‘ By _,5155
Ao 4 i V (o)} ghan plal
AY d

ol ol gy g
5298 g wlidiond pgle ul5y

1508 geigal mice oolejles

(1148 w8) = 1 1 (Sl sl yb

AiBo Yo 1 2 of Fawl) Chow 1 g sluad

¥l §ylouds g Hlouti o, Sloiol Slga ylgie

Lad b | Stad | Jtgew oluas it g S
I# \ ¥ (gt} pomamded g cogu 3l L
K ™ T oyl oy jgieed 5 J b i
4. b ¥ wmelidi by eslaadie ¥
¥ 44 ¥ el 31 gy bt 3 g F

S e b dle ool B0 i B yod ga3T ol

R e e R R R 3 3 e e e R R R P e B

gt gl oy o Pl (pulicn b y A2 o yloen o s (2 sytee b U BB y R ottt pekal ol ciqme T (058 3t et {ove i S g g 4t i L 285 e 3




Y dmdua 607A (118 08 = 1! b gla b

el G.JB"'JT Al g Lol jqeaee g diaods (b3 Jede Ol juie ;0 Lagl g Glasels TS pds 5601; cdlagly &

A O TN . NS IO JNU 1L W [ P el el e ilogs |
E)d J;—\.‘r o 3 (C_SJ ..\.ﬁ”é-w 3&“-:}-\3.3 9 d.an("}wL* GYL Lml' 4 3935 a;b’ LS'HTL ).5 E{J.J..Ln LS'-"LES!'} 5)1.&\:6 |.|
el g0 U 1 plaslizuuls ooily 3 OY15es S b5 (595 3 a0

PART A: Vocabulary

Directions: Choose the word or plirase (1), (2), (3), or (4) that best completes each senfence.
Then mark the correct choice on your answer sheet.

1-  The police only believed me after an evewitness ---------- my account of the accident.
1) displaved 2) constituted 3) corroborated 4) suspected

2-  The plan is to our --—--—--—- advantage; we will all henefit greatly from it.
1) concurrent 2) mutual 3) devored 4) involved

3-  Qur organization is commitied to pursuing its aims through peacefol -—--—---- . We totally
reject violence as a means of political change.
1) mc¢ans 2) inslruments 3y devices 4y gadgely

4-  All parents receive a booklet which -—--——-—-- the school’s aims and objcctives before their
children start their first term.
1) clarilics 2} injcets 3} conducts 4y notifics

5-  Increasing the state pension is a -----—--- aim, but I don’t think the country can atford it.
1) redundant 2) diverse 3} flexible 43 laudable

6- The primary aim in sumo wrestling is to knock vour ---—------- right out of the ring!
1) protagonist 2) opponent 3) referee 4) beneficiary

7-  The cost of the damage caused by the oil - will be around 3200 million.
1) spill 2% guill 3y demerit 4} exlent

8-  Most of us ------—--- when we hear that many children spend more time watching TV
than they spend in school. It’s a rather scary thought.
1) withdraw 2) retreat 3} recoil 43 regress

9-  Even though he isn’t enrolled right now, Calvin says he will go to college ----——--- :
1) creatively 2) delicately 3) sentimentally 43 eventually

10-  You should aveid driving during the snowstorm because the icy roads are —--—--—--,
1) supcrlicial 2) [rigid 3) perilous 4) cautious

PART B: Cloze Test

Dircctions: Read the following passage and decide which choeiee (1), (2), (3), or (4) best fifs cach
space. Then mark the eorveet choice on your answer sheet.

When it comes 1o visually identifving a work of art, there is no single set of values or
aesthetic traits. A Baroque painting will not necessarily (11} -------——-- much with a
contemporary perlormance picee, bul they arc both considered art.
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(12) ——----——-- the scemingly indclinable nature of art, there have always exisled
certain formal guidelines for its aesthetic judgment and analysis. Formalism (s a concept
in art theory (13) -=-------—--- an artwork’s artistic value is determined solely by its form, or
the way (14) --—-———--- . Formalism ¢valuales works on a purcly visual level, {15) ———----
medium and compositional elements as opposed to any reference to realism. context, or
conlent.

11- 1) share 2) be sharing 3) have shared 4} be shared
12- 1) Although 2) Despite 3) Regardless 4) However
13- 1) that 2) that in 1t 3) which 4) in which

14- 1) of it made 2) made 3) how it i1s made 4) it 1s made
15- 1) are considered 2) considers 3) considering 4) and consider

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2}, (3), or (4). Then murk the correct choice on your answer sheef.

PASSAGE 1:

'The outline of the development of the Sumerian writing system has been worked out
by paleographers. [t has long been known that the earliest writing system in the world
was Sumerian seripl, which In its laler stages was known as cuncilorm. The carlicst
stages ol development are still a matier of much speculation based on [ragmentary
evidence. The French American archaeologists have discovered in lower Mesopotamia
{now southern lraq) large numbers of small, distinctively shaped clay objects. These
are thought to date back to as early as 8000 BCE, about the time that hunter-gatherer
societies were giving way to an agricultural way of life. A greatly elaborated set of
these clay shapes dates trom 3500 BCL, about the time of the rise of ¢itics. Some of
the cnvelopes have markings that correspond 1o the ¢lay shapes inside. Morcover,
these markings are more or less similar to the shapes drawn on clay tablets that date
back to about 3100 BCE and that are unambiguously related te the Sumerian language.
'These markings are thought to constitute a logographic form of writing consisting of
some 1,200 different characters representing numerals. names, and such material
objeets as cloth and cow,

The historical record 1s much more explicit after 3200 BCE and reveals clearly the
stages Involved in the evolution from a limited svstem of notation suitable for
recording particular events into a full general-purpose orthography. Archaic Sumerian
used mostly graphs representing numerals. names for objects, and names of persons.
Graphs lor numecrals were geomelric shapes, while those [or objecls were olicn
sivlized pictures of the things they represented. Yel the syslem was 4 genuine
logographic writing system generally adequate to economic and administrative
purposes. With the substitution of a bluat writing stylus for a pointed one, the symbols
become less picturelike and more conventionalized. The writing system takes the name
cuneitorm from the shape of'the strokes that form the symbols.
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[¢’s stated in the passage that the discovery date of many complicated shaped clay
ohjcets -—--—--——-,

1) showed the time of agricultural way of life

2) dated back o cight thousand belore Christ

3) came back (o the cmergence ol hunicr-gatherer sociciics

4y was simultancous with the time ol the rise ol citics

Our knowledge about the beginning stages of the development of Sumerian writing is
I} insulTicient and incoherent

2) limited o the origin ol cuncilorm

3) restricted 1o Lucts showing the laller stages ol its exiension

4) all according to speculation

The graphs used in Arachaic Sumerian writing had all the following features EXCEPT

1) names lor people 2) number symbols

3) gcomelric shapes 4) namcs [or objects

The word “blunt™ in paragraph 2 can be substituted by —-—--—-—,

1) unclear 2) unsharp 3) certain 4) harsh
The author of this passage wants to -—-—------ ;

1) inform 2) illustrate 3) enterlain 4) persuade
PASSAGE 2;

Arabic has been regarded as a member of Semitic languages which include a number
ol languages in the Middle =ast and North Alrica, It is originally generated rom Afro-
Asiatlic languages which includes besides Arabic dillerent languages such as Hebrew,
Lihiopian and oiher languages. The lirst cmergence ol Arabic as a world language
goes back to the seventh century CE.

The century of Islam diffusion that followed the death of Prophet Mohammed
brought both 1slam as a religion and Arabic language to the attention of a world that
had posscssed only (the vaguest notion of what went on in the interior of the Arabian
Peninsula.

In his argument about the Arabic emergence, Farghaly (2010) shows that Arabic
language evelved from an obscure and non-prestigious language to a major world
language after the Islamic conguests. the period after Prophet Mohammed' death.

Among Semitic languages, Arabic has been described as the most widely spoken
besides being the sacred language of more than a billion Muslims around the world. 1t
is the sixth most widely spoken language in the world and one of the six official
languages of the United Nations. Of the 330 million native speakers of Arabic. many-
millions are Christians and few are Jews. However. the great majority of Arabic
speakers are Muslims, Arabic is spoken not only in onc varicty but rather in different
varictics across the Arab World.

During the sceond hall of the seventh century, the world witnessed the [oundation
ol the Islamic Arab Empire which by the beginning ol the cighth century, it streiched
from Spain to Persia. Such massive dominance contributed to the spread of Arabic asa
sacred language bheing the language of the [oly Quran. In addition, several factors laid
the ground for Arabic to spread out of the Arabian Peninsula.
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24-

Internationally, Arabs have been known as traders and migrants. These two factors
created a big size of opportunities of contact hetween Arabs and non-Arabic speakers
in areas such as [rag, Nile Delta in Egypt, Syria. and Palestine. It could be said that
such a kind of contact cstablished a strong basc ol [amiliarily with Arabic in such
arcas. Morcover, the spread of Islam in dillerent parts of the world had f(ar-rcaching
conscquences for the development of Classical Arabic. In the wake of the spread of
Islam, Arabic turned from being exclusive only to the Arabian Peninsula to be a
dominant language of the Middle East and North Africa.

According to the passage, Afro-Asiatic ---—---—-— ;

1) is a main language ol scimitic languages

2) was generated trom Arabic as a seimitic language

3) refers to Hebrew, Ethiopian, and other languages in the Middle-East

4) 15 a large language family including many languages such as Arabic, Hebrew, and etc
The word “*vaguest” in paragraph 2 can be substituted by ---—--—-—,

1) farthest 2} hardcest
3) most distinet 4} most unelear
It’s stated in the passage that Farghaly -,

1) contributed to Arabic language development

2) believed that Islam introduced Arabic to the world

3) showed the evolution of the Arabic language

4) worked on Arabic as un obscure and non-prestigious language

All of the following, according to the passage, are True EXCEPT ------——-- g
1) Arabic is the language of Islam

2) Arabic is a language with many varieties

3) Arabic language has the most speakers in the world

4) Islamic Arab Empire extended to lran in the early Sm century

It’s stated in the passage that people in some different countries could familiarize with
Arabic through ------——--- i

1) Arabs’ trading and migration

2) its holy status in the world

3) development of classical Arabic

4) contacts occurred among people throughout the world

PASSAGE 3:

The language of the Gathag, Gathic or old Avestan, belongs (o the old Tranian language
group that is a sub-group ol LCastern lamilics of the Indo-Furopcan languages. The
dependency on Vedic Sanskrilt is a significant weakness in the interpretation ol the
Gathas, as the two languages, though from a common origin, had developed
independently. Sassanid era translations and commentaries {the Zend) have been used to
interpret the Gathas, but by the 3rd century the Avestan language was virtually extinet,
and a dependency on the medieval texts is often discouraged as the commentaries are
Lrequently conjectural. While some scholars argue that an interprelation using younger
lexts 18 inadvisable (Geldner, Humbach), others argue that such a view is cxcessively
skeptical (Spiegel, Darmesteter). The risks of misinterpretation are real, but lacking
alternates, such dependencies are perhaps necessary.
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*The Middle Persian translation seldom offers an appropriate point of departure for a
detailed scholarly approach to the Gathas, but an intensive comparison of its single lines
and their respective glosses with their Gathic originals usually reveals the train of thought
ol the translaior. This obviously relleets the Gatha interpretation by the pricsis of the
Sasanian period. the general view of which is ¢loscr 1o the original than what is somclimes
laught about the Gathas in our tme.”

The problems that tace translator of the Avestan Gathas are significant: “No one who
has ever read a stanza of [the (Gathas] in the original will be under any illusions as to the
labour that underlies the effort [of translating the hymns]. The most abstract and
perplexing thought, veiled further by archaic language, only halt’ understood by later
students of the scer’s own race and tongue, tends to make the Gathas the hardest problem
10 be attempted by those who would investigate the literary momumnents,”

The author of this passage wants (¢ --—--——-—- .

1) show the trend of translation of (iathas

2) recognize the reliable commentarics on Gathas

3) give inlormation about one of the old lranian lunguage
4) cmphasizc Gathic as an absiract language

According to the passage, (:athi¢ ---—--——-,

1) had no any reliance on Sanskrit

2) and Sangkril have sprung (rom some common source
3) had developed in accordance with Sanskrit

4) 15, unlike Sanskrit, a sub-group ol Indoe Luropean lunguages
The Avestan language -—----—-,

1) belonged to the Sassanid era

2) 1s frequently a conjectural langnage

3) had been used o interpret the Gathag

4) has ncarly no longer any speaker alier the 3" century

The word “veiled” in paragraph 3 means --=-e=----,
1) defined 2) covered 3} focused 4) emerged
It’s stated in the passage that translating the Avestan Gathas -—--——-—-—- .

1) requires a great eftort

2) reveals the illusions

3) clears the history ol archaic languages

4) relies on overlooking the literary monuments
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